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The concept of Din-e-Elahi was founded by which king?

(A) Dara shikoh (B) Akbar

(C) Sher Shah Suri (D) Shahjahan
(E) None of these

Pneumonia effects:
(A) Lungs (B) Tongue
(C) Liver (D) Kidney
(E) None of these

Kisan Credit Card Scheme was introduced in .
(A) 1191 (B) 1996
(C) 1998 (D) 2000
(E) None of these

Tennis star Steffi Graf belongs to which one of the following countries?

(A) Australia (B) US.A
(C) Germany (D) Italy
(E) None of these

Mahatma Gandhi for the first time practiced his Satyagraha in India at

(A) Chaura-Chauri (B) Ahmedabad
(C) Champaran (D) Nauokhali
(E) None of these

Which national award stands third in the hierarchy of civilian awards?

(A) Padma Sri (B) Padma Bhushan
(C) Padam Vibhushan (D) Bharat Ratna
(E) None of these

What is the currency of Sri Lanka?

(A) Rupee (B) Taka
(C) Rial (D) Kyat
(E) None of these

Vistula is a river in Poland while Essequibo is a river in
(A) Guyana (B) Germany
(C) Sudan (D) Barbados
(E) None of these
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A ruler of Gupta dynasty is known as “Napoleon of India’ Name the ruler.

(A) Skandgupta (B) Kumargupta

(C) Chandragupta (1) (D) Samudragupta
(E) None of these

PTO stands for what?

(A) Please Turn On (B) Please Turn Off
(C) Please Take Over (D) Please Turn Over

(E) None of these

The charter of United Nation is its constitution. When was the charter signed?

(A) 1945 (B) 1956

(C) 1959 (D) 1934

(E) None of these

1 battle of Panipat was fought between and .

(A) Jahangir and Humayun (B) Babar and Balban

(C) Babar and Ibrahim Lodi (D) Babar and Sikandar Lodi

(E) None of these

How many official languages does UNO have?

(A) 8 (B) 6
(€ 5 D) 4
(E) None of these

Clarence Birdseye was the inventor of frozen food process. He belonged to

(A) USA (B) Georgia

(C) Hungry (D) Ethiopia

(E) None of these

What does DTH stand for?

(A) Direct To Home (B) Direct To House

(C) Destination To Home (D) Destination To House

(E) None of these

Who among the following served India for two terms as President?
(A) S.Radhakrishnan (B) Rajendra Prasad
(C) Zakir Hussein (D) V.V.Giri

(E) None of these

Who invented the Theory of Evolution?

(A) A Einstein (B) Samuel Marse
(C) Gabriel Lippman (D) Charies Darwin
(E) None of these
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CaoCl, is the chemical formula for a compound commonly known as:
(A) Soda Ash (B) Lime

(C) Bleaching Powder (D) Plaster of Paris

(E) None of these

In which country does the river Maheweli Ganga flow?

(A) India (B)  Pakistan
(C) Nepal (D)  Sri Lanka
(E) None of these

Which one of the following is the biggest independent state(as per area) in the world?

(A) India (B) USA
(C) Russia (D) China
(E) None of these

Which place is known as world’s Loneliest Island?

(A) Gibraltar (B) Korea
(C) Tristan da Cunna (D) TIreland
(E) None of these

Who was the first woman to reach the highest point of the Himalayas?
(A) Kalpana Chawla (B) Leela Seth

(C) Mithali Raj (D) Bechendri Pal

(E) None of these

Which Vitamin is known as ascorbic acid?

(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin K
(E) None of these

Which part of body stores extra fat?

(A) Cell (B) Nudes
(C) Intestine (D) Tissue
(E) None of these

Which one of the following cities is popularly known as city of seven Hills?
(A) Paris (B) Moscow

(C) Rome (D) Jaipur

(E) None of these

Who is the first Indian woman to score a double century in test cricket?
(A) Sandhya Agarwal (B) Diana Edulji

(C) Anjum Chopra (D) Mithali Raj

(E) None of these
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Who translated the Ramayana into Telgu as ¢ Rangnatha Ramayana?
(A) Krishnadev Raya (B) Nannaya

(C) Tenali Ramakrishna (D) Gona Budha Redi
(E) None of these

Mohammad Ghaznavi a ruler of Ghazni, Afghanistan attacked India how many times?
(A) 20 (B) 17

(C) 15 (D) 12

(E) None of these

Name the southern most end point of India.

(A) Jawahar Point (B) Indira Point
(C) Gandhi Point (D) Rajendra Point
(E) None of these

Alessandro Volta invented battery. The inventor belonged to which country?
(A) Iran (B) Canada

(C) Ttaly (D) Colombia

(E) None of these

What is the full form of UNO?

(A) United National Office (B)  Union of Natinalised Organisation
(C) United natinalised Organisations (D) United Nations Organisation

(E) None of these

was the founder of Mauryan empire.
(A) Chandra Gupta Maurya (B) King Nand
(C) Brihadratha (D) Chanakya
(E) None of these

Which one of the following is not a gallantry award of India?

(A) Param Vir Chakara (B) Maha Vir Chakra
(C) Ashok Chakra (D) Dhyanchand Award
(E) None of these

An Engineer takes a degree of ‘Bachelor of Technology’. It means he does
(A) B.Tech (B) BT

(C) Bee. Tec (D) Bee. T

(E) None of these

What is Manchester United?

(A) A Football Club (B) A Cricket club
(C) A Tennis club (D) A Badminton
(E) None of these
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Who has been appointed as the new president of World Bank?

(A) Jim Young Kim (B) Robert Zoellick

(C) Paul Wolfowitz (D)  Sir James Wolfensohn
(E) None of these

Which one of the following is not a national symbol of USA?
(A) The Star Spangled Banner (B) Sparrow
(C) Rose (D) Bald Eagle
(E) None of these

Which dynasty came just before the Suri Dynasty of Shershah?
(A) Tughlaq Dynasty (B) Mughal Dynasty
(C) Lodhi Dynasty (D) Slave Dynasty
(E) None of these

The flag of Thailand was officially adopted in .
(A) 1917 (B) 1922
(C) 2005 (D) 2008
(E) None of these

Who has been crowned as Miss World 20122

(A) Zhang Zilin (B)  Yu Wenxia

(C) Aishwarya Rai (D) Priyanka Chopra
(E) None of these

The Nuclear Non-Proliferation Treaty came into force in the year
(A) 1967 (B) 1970

(C) 1971 (D) 1974

(E) None of these

In which year the Indian Space Research Organiszation (ISRO) was founded?
(A) 1967 (B) 1969

(C) 1970 (D) 1974

(E) None of these

In games, what is another word for ‘draw’?

(A) Heat (B) Ro
(C) Win (D) Tie
(E) None of these

Nitrogen fixing bacteria are normaly found in:

(A) Parasitic plants (B)  Epihytic plants
(C) Leguminous plants (D) Agquatic plants
(E) None of these
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What is the normal body temperature of a healthy person in degree Celsius?
(A) 25°C (B) 37°C

(C) 59°C (D) 97°C

(E) None of these

In India agriculture of jute is maximum in which Delta area?
(A) Ganga (B) Mahanadi
(C) Brahmaputra (D) Godavari
(E) None of these

The most discussed Tehri Dam Project is located in which one of the following States?
(A) Madhya Pradesh (B) Rajasthan

(C) Haryana (D) Uttrakhand

(E) None of these

Shah Jahan built the Moti Masjid at:

(A) Delhi (B) Jaipur
(C) Agra (D) Amarkot
(E) None of these

Dhanbad is famous for its .

(A) Migratory birds (B) Developing port
(C) Important Sea port (D) Coal mine

(E) None of these

Which was the first satellite of India?

(A) Bhaskara (B) Rohinil
(C) RohinilI (D) Apple
(E) None of these
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=[Note: The actual Question Paper will translated in Hindi at the time of exam. ]=
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